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#include <SoftwareSerial.h>
SoftwareSerial dataSerial(7, 8); // RX, TX
#define IClatchPin 12
#define ICclockPin 11
#define ICdataPin 13
#define sensorl A0

#define sensor2 Al

#define sensor3 A2

#define sensord A3

#define sensord A4

#define leftMotorPin 6
#define rightMotorPin 5
#define modePin 2

int dataSensorl;

int dataSensor2;

int dataSensor3;

int dataSensor4;

int dataSensor5;

int triggerSensorl = 0;
int triggerSensor2 = 0;
int triggerSensor3 = 0;
nt trigge

rSensor4 = 0;

int trigeerSensors = 0;

boolean

RGBmap(32]=(1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,

LLLLLLLLLLLY

void arraySet(boolean value)
{
for(int a=0;a<32;a++)
{
RGBmap[a]=value;

}

void lightTest()

{

}

arraySet(0);
displayRGBO();
delay(200);
arraySet(1);
displayRGBO();
delay(200);

void updataTrigger()

{

motor(0,0);

lightTest();

int sensor1 Max=0;

int sensor1 Min=1000;

int sensor2Max=0;

int sensor2Min=1000;

int sensor3Max=0;

int sensor3Min=1000;

int sensor4Max=0;

int sensor4Min=1000;

int sensorSMax=0;

int sensorSMin=1000;

for(int 1=0;1<10000;1++)

{
updataSensor();
if(dataSensor1>sensor1 Max)
sensorMax = dataSensorl;
if(dataSensor1<sensor1 Min)

sensor1Min = dataSensorl;

if(dataSensor2>sensor2Max)
sensor2Max = dataSensor?2;
if(dataSensor2<sensor2Min)

sensor2Min = dataSensor?2;

if(dataSensor3>sensor3Max)
sensor3Max = dataSensor3;

if(dataSensor3<sensor3Min)



sensor3Min = dataSensor3;

if(dataSensord>sensor4Max)
sensordMax = dataSensor4;
if(dataSensord<sensor4Min)

sensor4Min = dataSensor4;

if(dataSensor5>sensordSMax)

sensorSMax = dataSensor3;

if(dataSensord<sensorSMin)

sensorSMin = dataSensor?;
}
triggerSensor1=(sensorl Max-+sensor1Min)/2;
triggerSensor2=(sensor2Max-+sensor2Min)/2;
triggerSensor3=(sensor3Max-+sensor3Min)/2;
triggerSensor4=(sensordMax-+sensor4Min)/2;
triggerSensordS=(sensorSMax+sensorSMin)/2;
lightTest();

void updataSensor()

{

dataSensor] = analogRead(sensorl);
dataSensor2 = analogRead(sensor?2);
dataSensor3 = analogRead(sensor3);
dataSensor4 = analogRead(sensor4);

dataSensor5 = analogRead(sensor));

}
void displayRGB()
{
digitalWrite(IClatchPin, LOW);
for (int b=0;b<32;b++)
{
digitalWrite(ICdataPin, RGBmap[b]);
digitalWrite(ICclockPin, HIGH);
digitalWrite(ICclockPin, LOW);
}
digitalWrite(IClatchPin, HIGH);
}

void motor(int leftMotor,int rightMotor)

{

analogWrite(leftMotorPin,leftMotor);
analogWrite(rightMotorPin,rightMotor);

void setup()

{

pinMode(IClatchPin,OUTPUT);
pinMode(ICclockPin,OUTPUT);
pinMode(ICdataPin,OUTPUT);
pinMode(leftMotorPin, OUTPUT);
pinMode(rightMotorPin, OUTPUT);
pinMode(sensor1,INPUT);
pinMode(sensor2, INPUT);
pinMode(sensor3,INPUT);
pinMode(sensor4,INPUT);
pinMode(sensord, INPUT);
pinMode(modePin, INPUT);
lightTest();

updataTrigger();
dataSerial.begin(115200);

void loop()

{

double basicSpeed=70;

double wrong=30;

while(1)

{
updataSensor();
if(dataSensor1<triggerSensorl)
{
motor(basicSpeed-wrong,basicSpeed+wrong);

}

else

{

motor(basicSpeed+wrong,basicSpeed-wrong);

}
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#include <SoftwareSerial.h>

SoftwareSerial dataSerial(7, 8); // RX, TX

#define IClatchPin 12
#define ICclockPin 11
#define ICdataPin 13
#define sensorl A0
#define sensor2 Al
#define sensor3 A2
#define sensord A3
#define sensord A4
#define leftMotorPin 6
#define rightMotorPin 5
#define modePin 2

int dataSensorl;

int dataSensor2;

int dataSensor3;

int dataSensor4;

int dataSensor5;

int triggerSensorl = 0;
int triggerSensor2 = 0;
int triggerSensor3 = 0;
int triggerSensord = 0;

int triggerSensord = 0;

boolean

RGBmap(32]=(1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,

LLLLLLLLLLLY

void arraySet(boolean value)
{
for(int a=0;a<32;a++)
{
RGBmap[a]=value;

void lightTest()

arraySet(0);
displayRGBO();
delay(200);
arraySet(1);
displayRGBO();
delay(200);

void updataTrigger()

{

motor(0,0);
lightTest();

int sensor1 Max=0;
int sensor1 Min=1000;
int sensor2Max=0;
int sensor2Min=1000;
int sensor3Max=0;
int sensor3Min=1000;
int sensor4Max=0;
int sensor4Min=1000;
int sensorSMax=0;
int sensorSMin=1000;

for(int 1=0;1<10000;1++)

{
updataSensor();
if(dataSensor1>sensor1 Max)
sensorMax = dataSensorl;
if(dataSensor1<sensor1 Min)

sensor1Min = dataSensorl;

if(dataSensor2>sensor2Max)
sensor2Max = dataSensor?2;
if(dataSensor2<sensor2Min)

sensor2Min = dataSensor2;

if(dataSensor3>sensor3Max)
sensor3Max = dataSensor3;

if(dataSensor3<sensor3Min)



sensor3Min = dataSensor3;

if(dataSensord>sensor4Max)
sensordMax = dataSensor4;
if(dataSensord<sensor4Min)

sensor4Min = dataSensor4;

if(dataSensor5>sensordSMax)

sensorSMax = dataSensor3;

if(dataSensord<sensorSMin)

sensorSMin = dataSensor?;
}
triggerSensor1=(sensorl Max-+sensor1Min)/2;
triggerSensor2=(sensor2Max-+sensor2Min)/2;
triggerSensor3=(sensor3Max-+sensor3Min)/2;
triggerSensor4=(sensordMax-+sensor4Min)/2;
triggerSensordS=(sensorSMax+sensorSMin)/2;
lightTest();

void updataSensor()

{

dataSensor] = analogRead(sensorl);
dataSensor2 = analogRead(sensor?2);
dataSensor3 = analogRead(sensor3);
dataSensor4 = analogRead(sensor4);

dataSensor5 = analogRead(sensor));

void displayRGB()

{

digitalWrite(IClatchPin, LOW);
for (int b=0;b<32;b++)

{
digitalWrite(ICdataPin, RGBmap[b]);
digitalWrite(ICclockPin, HIGH);
digitalWrite(ICclockPin, LOW);

}

digitalWrite(IClatchPin, HIGH);

void motor(int leftMotor,int rightMotor)

{
analogWrite(leftMotorPin,leftMotor);
analogWrite(rightMotorPin,rightMotor);

void setup()

{
pinMode(IClatchPin,OUTPUT);
pinMode(ICclockPin,OUTPUT);
pinMode(ICdataPin,OUTPUT);
pinMode(leftMotorPin, OUTPUT);
pinMode(rightMotorPin, OUTPUT);
pinMode(sensor1,INPUT);
pinMode(sensor2, INPUT);
pinMode(sensor3,INPUT);
pinMode(sensor4,INPUT);
pinMode(sensord, INPUT);
pinMode(modePin, INPUT);
lightTest();
updataTrigger();
dataSerial.begin(115200);

void loop()
{
double basicSpeed=70;
double Kp=4;
while(1)
{
/lpdataSensor();
double
error=analogRead(sensor3)-triggerSensor3;
double turn=error*Kp;
double A=basicSpeed-turn;
double B=basicSpeed+turn;
motor((int)A,(int)B);
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